

Order of Operations With Hints  
Version 1

Name: \_\_\_\_\_

$(3 \times 7) + 3 = \underline{\quad}$

$34 - (2 \times 1) = \underline{\quad}$

$(1 \times 2) - 7 = \underline{\quad}$

$72 - (2 \times 7) = \underline{\quad}$

$21 - (7 \times 2) = \underline{\quad}$

$34 - (3 \times 3) = \underline{\quad}$

$26 - (2 \times 7) = \underline{\quad}$

$23 - (2 \times 6) = \underline{\quad}$

$(1 \times 9) + 2 = \underline{\quad}$

$(9 \times 7) - 2 = \underline{\quad}$

$57 - (2 \times 9) = \underline{\quad}$

$(6 \times 6) + 1 = \underline{\quad}$

$(4 \times 8) - 5 = \underline{\quad}$

$20 - (2 \times 7) = \underline{\quad}$

$(5 \times 9) + 4 = \underline{\quad}$

$25 - (7 \times 2) = \underline{\quad}$

Total: 16

Goal: \_\_\_\_\_

Complete: \_\_\_\_\_

Correct: \_\_\_\_\_

Basic Order of Operations  
Version 1

Name: \_\_\_\_\_

$80 - 2 \times 7 = \underline{\quad}$

$7 + 9 \times 6 = \underline{\quad}$

$6 \times 1 + 3 = \underline{\quad}$

$45 - 2 \times 6 = \underline{\quad}$

$7 \times 1 + 1 = \underline{\quad}$

$2 + 7 \times 8 = \underline{\quad}$

$6 \times 4 + 6 = \underline{\quad}$

$1 \times 7 - 6 = \underline{\quad}$

$5 + 9 \times 6 = \underline{\quad}$

$21 - 2 \times 3 = \underline{\quad}$

$3 \times 3 - 7 = \underline{\quad}$

$84 - 2 \times 7 = \underline{\quad}$

$2 \times 8 - 2 = \underline{\quad}$

$2 \times 3 - 3 = \underline{\quad}$

$20 - 2 \times 3 = \underline{\quad}$

$43 - 2 \times 7 = \underline{\quad}$

Total: 16

Goal: \_\_\_\_\_

Complete: \_\_\_\_\_

Correct: \_\_\_\_\_

Order of Operations With Parentheses  
Version 1

Name: \_\_\_\_\_

$(10 - 5) \times 1 = \underline{\quad}$

$(9 + 5) \times 3 = \underline{\quad}$

$6 \times (5 + 3) = \underline{\quad}$

$(6 + 4) \times 1 = \underline{\quad}$

$4 \times (7 + 7) = \underline{\quad}$

$61 - (2 \times 7) = \underline{\quad}$

$(4 + 4) \times 9 = \underline{\quad}$

$(2 + 6) \times 2 = \underline{\quad}$

$(7 + 7) \times 8 = \underline{\quad}$

$24 - (2 \times 7) = \underline{\quad}$

$7 \times (1 + 1) = \underline{\quad}$

$14 - (2 \times 3) = \underline{\quad}$

$80 - (2 \times 5) = \underline{\quad}$

$(10 - 3) \times 9 = \underline{\quad}$

$6 \times (4 + 9) = \underline{\quad}$

$(9 + 3) \times 3 = \underline{\quad}$

Total: 16

Goal: \_\_\_\_\_

Complete: \_\_\_\_\_

Correct: \_\_\_\_\_

Order of Operations With Exponents  
Version 1

Name: \_\_\_\_\_

$21 - 3^3 = \underline{\quad}$

$94 - 2^2 = \underline{\quad}$

$5^2 + 9 = \underline{\quad}$

$22 - 2^2 = \underline{\quad}$

$7^2 + 6^2 = \underline{\quad}$

$7^2 + 9 = \underline{\quad}$

$7^2 + 9^2 = \underline{\quad}$

$2^2 + 1 = \underline{\quad}$

$93 - 7^2 = \underline{\quad}$

$8^2 + 9^2 = \underline{\quad}$

$4^2 + 9 = \underline{\quad}$

$2^2 + 4 = \underline{\quad}$

$93 - 8^2 = \underline{\quad}$

$3^2 + 3 = \underline{\quad}$

$2^2 + 6^2 = \underline{\quad}$

$4^2 + 5 = \underline{\quad}$

Total: 16

Goal: \_\_\_\_\_

Complete: \_\_\_\_\_

Correct: \_\_\_\_\_

More Complex Order of Operations  
Version 1

Name: \_\_\_\_\_

$60 - 7^2 + 2 = \underline{\quad}$

$6 \times 7 + 71 = \underline{\quad}$

$4 \times (4^2 + 8) = \underline{\quad}$

$80 + (8 \times 4) \div 2 = \underline{\quad}$

$1 \times (8^2 + 6) = \underline{\quad}$

$5 \times 4 + 98 = \underline{\quad}$

$9 \times 4^2 + 82 = \underline{\quad}$

$48 - 7^2 + 2 = \underline{\quad}$

$56 - 1^2 + 2 = \underline{\quad}$

$5 \times 7^2 + 49 = \underline{\quad}$

$2 \times 4^2 + 22 = \underline{\quad}$

$63 - 1^2 + 7 = \underline{\quad}$

$1 \times 8 + 64 = \underline{\quad}$

$62 - 3^2 + 1 = \underline{\quad}$

$89 - 6^2 + 2 = \underline{\quad}$

$51 - 6^2 + 3 = \underline{\quad}$

Total: 16

Goal: \_\_\_\_\_

Complete: \_\_\_\_\_

Correct: \_\_\_\_\_

Order of Operations Nested Parentheses  
Version 1

Name: \_\_\_\_\_

$(79 - (6 + 2)) \times 2 = \underline{\quad}$

$(96 - (9 + 3)) \times 2 = \underline{\quad}$

$(9 + 5) \times (9 - 5) = \underline{\quad}$

$(83 - (4 + 7)) \times 2 = \underline{\quad}$

$(4 + 6) \times (1 - 6) = \underline{\quad}$

$(8 + 9) \times (5 - 4) = \underline{\quad}$

$(60 - (4 + 3)) \times 2 = \underline{\quad}$

$(6 + 4) \times (6 - 1) = \underline{\quad}$

$(6 + 8) \times (9 - 7) = \underline{\quad}$

$(4 + 4) \times (6 - 8) = \underline{\quad}$

$(4 + 1) \times (9 - 9) = \underline{\quad}$

$(36 - (7 + 9)) \times 2 = \underline{\quad}$

$(74 - (5 + 4)) \times 2 = \underline{\quad}$

$(8 + 4) \times (5 - 3) = \underline{\quad}$

$(9 + 3) \times (5 - 1) = \underline{\quad}$

$(4 + 8) \times (9 - 8) = \underline{\quad}$

Total: 16

Goal: \_\_\_\_\_

Complete: \_\_\_\_\_

Correct: \_\_\_\_\_